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HRT -1/ PART -1

[3]

[A]

919 fae Td {31eemes / CHILD DEVELOPMENT & PEDAGOGY
[Adsr : [=itee gedl % G737 % [ qa] S [A%e g

Direction : Answer the following questions by selecting the most appropriate option.

1.

Frifed & | #F-d1 daeq guis
g S TN G e @

(1) sfaefe ™

(2) Fritemees s

(3) Hfcr fambra

(4) TRt orgian

o R KIS (R B CED - ST e el |
IR ST F AY-fER, REEE &
wraHISR famrd @ iR § | TR
R % TAIA § 7

(1) T9am s9M Sfdgarq

(2) W a9 9 Ud Hes

(3) UBd IIM ST AY

(4) YESF SH 4fFER 99 (Role Confusion)
R 1 T8 HEgd B WA A
g e B @ s & S wedl @

(1) SR e

(2) FAH 390

(3) TARRRET F4rer

4) gt FarEm

HAIYYH  FIER A9 (Applied

Behaviour Analysis or ABA) f=ifea &
4§ g sl W ooaia & 7

(1) e Srgdes
(2) fopam Jga ergeed

(3) dAmdfte s
(4) OIS ARy

Level-3/3306

1.

Which of the following concept 1is
derived from famous 'Bobo Doll'
experiment ?

(1) Insightful learning

(2) Observational learning

(3) Moral development

(4) Conditioned response

The age range of Genital Stage of
Freud's
development is similar to which of the
following stage of Erikson's theory of
Psycho-social development ?

theory of  Psycho-sexual

(1) Trust vs mistrust
(2) Autonomy vs shame & doubt
(3) Initiative vs guilt

(4) Identity vs role confusion

The feeling of adolescents, "Everyone is
looking at me", can be termed as :

(1) Personal fable
(2) Imaginary audience
(3) Anorexia Nervosa

(4) Bulimia Nervosa

Applied Behaviour Analysis is based on
principles of :

(1) Classical conditioning
(2) Operant conditioning
(3) Insightful learning

(4) Observational learning

P.T.O.



[A]

gar AR H gE A 6 d

gﬁ\cﬁaﬁaﬁﬁﬁﬁrﬂ%’,aﬁww

(1) AR Heah

(2) FEEH I

(3) oM W

(4) SArcAIEHTEA

Feones oMM & 9 ddl & g8

HH FE 7

(1) S@gM — SRR — 9RO &
— &

(2) I — RO HAT — FASHEA

(3) I — YTEMART —> GROT B
(4) TFIN — RO HET —  ARWRET

frifeg & @ F9-a1 w9 e &

e o & fosid & d9e9 | el

& 27

(1) 98 39 HgaT W oeid ® %
foepra U STEAd iR 2|

(2) TE 39 HAT W oNeag & % 9=
g Td TR 8 dEd
g

(3) T& 3 A W NgiRg 2 %
foepr sk Tad gl 2

(4) 98 T HEAT W oeiRd ® %
REIRIECEA Mo Fae ki | M i <

Stta &9 (&) @ HeheqeT, T W ©
(1) =T AT &l

(2) fopam Jd STgse &

(3) Sidefte ST &

(4) e &= f=ia &

Level-3/3306

[4]

"Young teen-agers often believe that
they are completely unlike any one
else.' This phenomenon is known as :

(1) Personal fable

(2) Imaginary Audience

(3) Self realization

(4) Self disclosure

What is the correct sequence of four

elements of observational learning ?

(1) Attention —  Motivation —
Retention — Reproduction

(2) Attention —  Retention —
Reproduction — Motivation

(3) Attention — Reproduction —
Retention — Motivation

(4) Attention —  Retention —
Motivation — Reproduction

Which of the following statement is not
true about the theory of cognitive
development given by Jean Piaget ?

(1) It believes that development is a
discontinuous process.

(2) It assumes that children learn
through assimilation and
accommodation.

(3) It believes that development is a
continuous process.

4) It
development takes place in four
different stages.

believes  that  cognitive

The concept of 'Life Space'is a part of :
(1) Classical conditioning

(2) Operant conditioning

(3) Insightful learning

(4) Lewin's field theory



9. FERIHE JAaa Ud 4  Foy Hag & ?

(1) 3 Rl TgfRT i 5o & & |
(2) A Rl STRRAT T HHOIR FI B |
(3) THERIHF YA Rl rfear @l

3% ST & Sl 42 R arRRa

P FHEMT S 2 |

(4) TERHE YAEd e SRR @l
FANL ST & & &g Rl
SRR A 35 & B |

10. I TH ThAr @ AN (R

W/aﬁrq‘@faﬁézﬁ%aa Tedl fRa
SR, Fad R/ GTI?ﬁT
g, & WU geed & &9 | {6
T 7E o §

(1) Wi = i

(2) d+ER® @ fEid

(3) R} &1 fEia

(4) gAE H S

1. F=ieg § @ #d9-@r R efaa
YA & e 7@ & 7

PR

ﬁ

(1) uierHE a9 T e

(2) TH I X SEA Rl

(3) oTafys &9 § dd-9rd & oY T
(4) dfed Jawgfs o

12. fHfafag & & ®9-a1 faeeg offfesy
W fegaiey o fgouar 78 & ?

(1) 3@ AR G & awer
(2) AT SA=ilsha § o
(3) 9fess AR AMfEs TR § qHEn
(4) STEEHE /AR FABR

Level-3/3306

[5]

10.

11.

12.

[A]
What is the relationship between negative
reinforcement and punishment ?
(1)
2)
3)

Both tend to strengthen a response
Both tend to weaken a response

Negative reinforcement strengthens
a response whereas punishment
weakens a response.

“4)

Negative reinforcement weakens a

response  whereas  punishment

strengthens a response.

If one activity occurs more often than
another, it can be used to reinforce the
activity that occurs less often. This
principle is known as :

(1) Premack's principle

(2) Thorndike's principle

(3) Skinner's principle

(4) Pavlov's principle

Which of the following is not an

example of fixed interval schedule of
reinforcement ?

(1) Getting salary every month
(2) Dialing a busy number
(3) Having a periodic dental checkups

(4) Getting increment every year

Which of the following option is not a
characteristic
Disorder ?

ey
2
3)

of Autism Spectrum

Problem in vision and hearing
Problem in social interaction

Problem in verbal and nonverbal
communication

“4)

Repetitive behaviour

P.T.O.
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13.

14.

15.

16.

fFY S oTUMT HiEEd HE SeddY A 497
foram | St fepil 1 SEeRl T AX qE1 79
qE D g% a9 ofF & T’ X IE
ZHEH HROT frifhd & | & Tbar © ¢

(1) &7

(2) qEERRa g

(3)

(4) LA

frifhd & ¥ BH-T1 FOF AR B

gﬂ;ﬁ—w@mm%ﬁaﬁﬁaﬁaﬁ

(1) = st F@ @, o1 "emar &,
T & T 8, 3¢ B gC d agd
FH diEd 2 |

(2) e faE &1 a7, 39 fHeia &
T% AN R

(3) T II9% & GIATHS [dpre H AT
% et Hl IUET H B |

(4) & GIEIHE (9 H O@HST T
HERT % R T e & ¢ |
H & AR & AgAR, FEifed § A
PIF-T HAAIED & BN U SR 787 & 7

(1) ST

(2) faeeteor

(3) deaor

(4) ergfseam

Rk & W-thed Hiedd ® G [Tk
¥ -1 B HEET T e w ?

(1) AR g

(2) fEres

(3) TEE AN

(4) afte Tg A

Level-3/3306

[6]

13.

14.

15.

16.

Kim changed her mobile number; and
got a new number. When some-one
asked her new number she could recall
only three digits of her new mobile
number. The cause behind it may be :

(1) Decay

(2) Proactive Interference
(3) Suppression

(4) Regression

Which of the following is rot true about
the socio-cultural theory of Vygotsky ?

(1) Children learn very little from
performing tasks they can already
do independently.

(2) Concept of Zone of Proximal

Development (ZPD) is a part of it.

3) It the
language in cognitive development.

ignores importance of

(4) It emphasizes role of socio-cultural
environment in cognitive
development.

As classified by Bloom, which one of
the following is not a subdomain of
cognitive domain ?

(1) Application

(2) Analysis

(3) Synthesis

(4) Responding

Which of the following is rot controlled
by pre-frontal cortex of brain ?

(1) Body Movement

(2) Thinking

(3) Problem solving

(4) Vision & Hearing



17.

18.

19.

20.

fR SRl & famEaw & ded H
freifed & @ @9-a1 &N g 78
g7

(1) g2 9T &9 H TH TN 2|

) fEmEas & W fReiR S gfE
W A & g8 =% H e 2 |

(3) 3OH AMYE & S9g ARG B
9T Bl 2|

4) @8 IRRE & 99" qEEE Bha
9T Bl 2|

UF X TE HEYH HIAT © 6 AT T
A& o el WR Rl 9 R e B
TE b ©

(1) HAE 396 B

(2) T He® B

(3) HATH-UI=T /9=

(4) UBEN Ghe &

IR UE By H B8 Ud g B
e o iR H 9 fRE WER
28 % Harm e © 7

(1) SUMM - 4RER &g I

(2) URER - URER & &I

(3) IUFM - IYFH & FHl

(4) 27 IUM - UER &8 &l

Gl
%

% AR FHIed § § -9 d% &
‘Teq &% ¥ Hfed 78 © 7

(1) femeg
(3) B

(2) 9™
(4) g Rart

Level-3/3306

[7]

17.

18.

19.

20.

[A]

Which of the following is rot true about
Day Dreaming among adolescents ?

)
2)

It is a form of active play.

The roles adolescents adopt in day
dreaming are heroic.

3)

It involves more physical activity
than mental.

“)

It involves more mental activity
than physical.

A teenager feels that no one has ever
been as deeply in love as he is. It

indicates :

(1) Imaginary Audience

(2) Personal fable

(3) Self identity

(4) Identity crisis

The phrase, 'six on one hand, and half a

dozen on other' best describes which of

the following type of conflict ?
ey
2)
3)
“)

Approach - Avoidance conflict
Avoidance - Avoidance conflict
Approach - Approach conflict
Double

conflict

Approach - Avoidance

According to Ecological systems theory
which of the
following does not belong to Macro
system of the child ?

(1) School (2) Values
(3) Laws (4) Customs

of Bronfenbrenner,

P.T.O.
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21,

22,

23.

24.

25.

R & dey § FEied § @ dE-a

Fo9 T 78 B 7

(1) e fiad & 0% TR 2 |

(2) T8 95T Faer H gha & © |

(3) & TH HiEHT S ¢ |

(4) T8 TR & TG B & [0 &
SIS

‘% 3 w Ay e [ wmr

(1) fo wd | sm

(2) BT TG Ded BN

(3) & ud gae EN

(4) aEEd od X En

“fopr & 2@ O H S OTONl i,

FM, B9 UTH Y Hadl M & BN

fefae @ 217

Te HY9 Fifed H § 9 @SR

forepra 1 oTaRen @ TAH ST © ¢

(1) HI&T THE e

(2) Td SR e

(3) i Hiharcas e

(4) =R GhpaTHS STaee

freifed & 9@ fhe  d@-oeds @

AT AT ST B 7

(1) 31@he fao

(2) fEER A

(3) Sflo WA 2

(4) dlo Tho RepX

freifed & & @9-o1 fRaEeEr &

Ruga f&ae &1 ey 787 8, 9dn &

Tdfhrs R 9/ T 8 ?

(1) aTestars

(2) aE-fgare @i ggia

(3) gfear/emried

(4) fafersear %1 ggfd

Level-3/3306
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21,

22,

23.

24.

25.

Which of the following is rot true about
areward ?

(1
(2)
(3) Itis a pleasant stimulus.
@ It is

response.

It is a type of bribe.
It increases desirable behaviour.

given to strengthen the

The 'investment theory of creativity' is
given by :

(1) Binet and Simons

(2) Carrol and Cattle

(3) Sternberg and Lubart

(4) Watson and Ryner

"At this stage of development, children
think with their eyes, ears, hands and
other sense organs."

The above statement best describes
which of the following stage of
cognitive development ?

(1) Sensori motor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage

Which of the following is the founder of
Child Study Movement ?

(1) Alfred Binet

(2) Theodore Simon

(3) G. Stanley Hall

(4) B.F. Skinner

Which of the following is not a form of
immaturity  of  thinking
adolescence as proposed by Elkind ?
(1) Idealism

(2) Argumentativeness

during

(3) Assertiveness

(4) Specialness



26.

27.

28.

29.

30.

Frefifed & & ®F-d1 Reer e
cMedi=h 78 & 7

(1) e e

(2) 9

(3) @

4) gasiF

SIECIEC - I COMR PR R I o
frsfd & #A-@1 Fem g @
Heed T & 9 © ¢

(1) SI9IT & e

(2) I &1
(3) UHE H FIH

(4) TR (Fard) &1 e
‘el T g Qe g 2

(1) gfe afmr 3o T=at & fo

(2) AT e gHI T==l & T

(3) ST AEHHTT YTl & forg

(4) AqfEF T o F=at & g

¥ gfE # MEaREd § 8 S

Hebas darm © 7

(1) gia T § 103 3% 9 HTT

(2) S & Har e FHA

(3) A I U< HAT

(4) g=UeT % ggEd TN T B A
RG]

U% T BT BT TN §euel @l
o Sl UHN TRAT ® orET 3§ 3% W
¥ 39 |9 & ST B | I8 SEed’ ©
(1) fopam 9ga STgee &

(2) I AT

(3) e e &

(4) Sidefte SR &

[9]

26.

27.

28.

29.

30.

[A]
Which of the following is not a
democratic teaching strategy ?
(1) Problem solving
(2) Project
(3) Discovery
(4) Demonstration
Which law of '"Trial and Error' given by

Thorndike is similar to the concept of
reinforcement’ ?

(1) Law of Use

(2) Law of Disuse
(3) Law of Effect

(4) Law of Readiness

‘Modelling' is an effective teaching
method for :

(1) Children with visual impairment
(2) Children with learning disability
(3) Acid Attack Victims

(4) Children with intellectual disability

Which of the following is best indicator
of high intelligence ?

)
2
3)
“4)

Scoring 103 on an IQ test

Reciting poem from memory
Earning high grades

Not making the same mistakes after

receiving feedback

A child angrily hits a playmate in the
same way that he has been punished at
home. It is an example of :

(1) Operant conditioning
(2) Classical conditioning
(3) Observational learning

(4) Insightful learning

Level-3/3306

P.T.O.
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HRT— 1l / PART - Il
A (R= @d $i3sh) / LANGUAGES (HINDI & ENGLISH)
[ &=/ HINDI ]
@1 : =i go7] % e @7 @ [T qa8 SfEd [dweq giae

31. INi g | g 9= BIfeT
(1) wemEE
(2) @¥fhd
(3) AT
(4) Prar

32. dfver #i gfte & o fasked g -
(1) @F + 9% = qER
(2) fasg + = = fasa=

(3) TEE + O = TEAAR
(4) 9T + 197 = A

33. U I 3 q @I [T geu

(1) FgT + 7=y
(2) 39X + T =Ty
(3) ARF + F = Wi

4) fafire + 7 =3

34. TAE F e q HHE-A OEA  FGIT

g7

(1) 9 R 99 = 9d geiid

(2) 9a9 § TR Gl Tl = Y]
(3) @8 Sl =g A AT B = =LA
(4) THER % f0 o= = HHERE

Level-3/3306

35. ke § dgaE o1 A= H SFGAT Hh
BifeT
(1) sl
(2) Tt
(3) gt
(4) et

36. 9 ey H ‘orgm OgEY THE &
R BT B 7

(1) "
(3) Tderd

(2) fefqea
(4) FHSH
37. PR H P &9 W & - 9 § 9gH
A T
(1) Fyggam=s (2) ANYEIaES
(4) JoHarEh
38. e @ § R d@ HHE-HE-A
g7
(1) i o) q==
(2) i, g SR FR®
(3) ff oiR #R®

(4) I, aeF Ud gey

(3) u9arEH



39.

40.

41,

42,

P o/ H ‘UM S afe @l S
TET & 8 7

(1) =M

(2) =B~

(3) THHD

(4) HIG=BET

TE AR g d Al B B - I
e faQer @ e @ feg sraem @
ara® & 7

(2) FaUEET

4) &0 @ B T

(1) etz
(3) I
=1 4 @ fpm foeed & ST aes
e B 7

2 g

(4) g

(1) &g
(3) T

FROBRE P qH G

(1) & G 9 | 2l 2 |

(2) 3 fomr Em M R

(3) afer TS | Feereh Fre 2 |

(4) 39 @Edl B | UF == H 6
goe | T |

[11]

43.

44,

45.

[A]

qu-fax @ e | oI faeed

g -

() @ & ©F § I=d & qa9 @1
% AN 8 M @Y IR & R
W dH @ #Ead & Se
- ®=&M & S=Ra @
feme =X & am @ M =
FYHRT @ FEA ¢ |

2) FTER @S H TP §; TEE
T @R A T 2 |

(3) o1 @ & I=RT ¥ gar T 9
T g @A g@ A4 e o
S B9 @ & SERe {4y
g & re-qry A § e
g 3% ‘TRIAIa® @ el S 8 |

(4) =8 qoimen § 9 ¥ § & aof o
g e T 8 F F omfe v wmyt
e 2 |

BAAHY SR UH-gE H THH o
Siiad e Bl ST - I e fhd
FT q Gae 8 °

(1) BYegHe s (2) Hred i
(3) 9Mg Aia=q (4) |y aaHe

‘RIS H JETTRA bl gie | H
4 @87 (STRIE) %A are e &

(1) foretea, op¥, aRife], &1o1

(2) &, A, A, foase

(3) ¥, Fdifd, foase, &

(4) aFAif, ¥, foase, afor

Level-3/3306

P.T.O.
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[12]

[ 3T3STl / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Choose the word in which the prefix

dis — is incorrectly used :
(1) Disbelief

(2) Disobedience

(3) Discomfort

(4) Discussion

Complete the sentence using the correct

option :

George has travelled alot. He ............

speak four languages.

(1) may (2) can

(3) need (4) must not

Choose the correct option for the blank

given :

He found her blue ford escort in the car
park. ............ vehicle was locked and

the lights were off.
(1 A (2) An

(3) The (4) zero article

Level-3/3306

49.

50.

51.

52.

They rested when evening came.

The underlined group of words in the

above sentence is a/an :
(1) Adjective clause

(2) Noun clause
(3) Adverb clause

(4) Conjunction clause

Choose the word with the incorrect
suffix 'ship':

(1) Friendship (2) Membership
(3) Relationship (4) Argueship

Which of the options given below is the
correct indirect form of the given

sentence ?

He said, T have passed the examination'.

(1) He said that he had passed the

examination.
2)
3)

He told I have passed.

He said he must have passed the

examination.

“4)

He informed us of his passing.

Choose the correct synonym of the

word 'contaminate’ :
(1) Defile (2) Rehabilitate

(3) Detach (4) Valid



[13] [A]

53. Choose the correct plural of the word 57. Choose the correct option of the
'species’ : underlined phrasal verb :
(1) Specis We must cut down expenses or we will
(2) Species be getting into debt.
(3) Speceis (1) Reduce in size or amount
(4) Specieses (2) Appear
(3) Expose

4. Ch h t iti .
54. Choose the correct preposition for the (4) Rise to the surface

blank given below :

58. Choose the correct form of the verb

She had great affection ............. her 'play’ from the options below :
grandchildren. They .............. (play) since four
(1) within (2) into O'clock.
1) h layed
(3) against 4) for (1) have playe
(2) will play
55. The old man was tired of walking. (3) play
The underlined word in the sentence is (4) have been playing
used as a:

59. Choose the correct past tense and past

(1) Participle participle of the verb 'Begin':

(2) Gerund (1) Began, Begun
(3) Noun (2) Begun, Begun
(4) Adverb (3) Begin, Began

(4) Begun, Began
56. Choose the correct form of the verb :

60. Choose the correct synonym of the

Gymnastics ............... my favourite
word "Pinnacle’ :
sport.
1) Peak 2) P
(1) is Q) are (1) Pea @) Pass
(3) Foothills (4) Deep
(3) were 4) do

Level-3/3306 P.T.O.



[A]

[14]

HET -1/ PART -1l
g 31e9g-1 / GENERAL STUDIES

[ AEITH% JRGdT, difthsh SATRMRIAT G |MT 319 U9 S1R¥sT< / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : =it ged] & 37 @7 % [ qe98 ST [dweT g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

g "e 10, 12, 15 qO1 18 & o

fefor 8 arer =gAaH oot v @
(1) 876 (2) 900
(3) 981 4) 1024

CH fam AR AND, B P EIA
H AL ERIFND & 921 C 2, a B
3T E &1 91 95 & 7

(1) E
(2) e
(3) fd
(4) @l

fepdl Hishice w1 § 'CERTAIN' &l %2
= 'XVIGZRM', 'SEQUENCE' & %z
I 'HVIFVMXV' &, @ 'MUNDANE'
ST FT FHT BT

(1) NFMWZMX
(2) NFMWMZX
(3) NFMWZMV

(4) NFWMZMV

Level-3/3306

61.

62.

63.

The least perfect square number which
is exactly divisible by :
10, 12, 15 and 18

(2) 900

(4) 1024

(1) 876
(3) 981

A 1s the father of C and D is the son of
B. E is the brother of A. If C is the sister
of D, how is B related to E ?

(1) Daughter
(2) Brother-in-law
(3) Husband

(4) Sister-in-law

In a certain code, 'CERTAIN' is coded
as 'XVIGZRM', 'SEQUENCE' is coded
as 'HVIJFVMXV' then how would
'MUNDANE' be coded ?

(1) NFMWZMX
(2) NFMWMZX
(3) NFMWZMV

(4) NFWMZMV



64.

65.

66.

67.

= # 9 F9-@1 I "DICTIONARY"
% e B JAN B B FeT S S
e

(1) RATION

(2) DAIRY

(3) NATION

(4) ACTION

AP, QHFM WE S, R, PH WA &, S, T
FAE R T, QFH A& 2, @ S B AWM
P g ?
() R
(3) T

2 Q
4) P

"BRIGHTER" 915 & 31eRl & fohae TR
fF efIel oy & 2 § ?

(1) 4 (2) 2
3) 1 “4) 3
ar Lot A q [N g
y 5 ’ 7 2y+x
g
1
1 _
(1) -
3
2 =
(2) -
1
3) 3
@ 1
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64.

65.

66.

67.

[A]

Which of the following words cannot
be formed by using letters of word
"DICTIONARY" ?

(1) RATION
(2) DAIRY
(3) NATION
(4) ACTION

If P is brother of Q, R is father of P, S is
brother of T. T is daughter of Q, then
paternal uncle of S is :

() R 2) Q

3 T 4) P

How many pairs of the letters does the
word "BRIGHTER" contain in such that
the two letters of the pair have as many
letters between them in the word as
there are in the English alphabet ?

1 4 (2) 2

3 1 “4) 3

If

=i, then value of E_Zy—x
5 7

*
y 2y+x

18 :
(D
()

3)

W= QW Q=

C))

P.T.O.



[A]

68.

69.

70.

71.

Uk AR H, A g C &% dsr & U
2: 18 Sk AdB & = Fas &
A 3 : 2 B AR ITH F AN HH
1,573 €, a1 Bl fehe & fieim ?

(1) 363 %o
(2) 484 %o
(3) 605 %o
(4) 726%0
U ARH AU Y G 14 a9 g H 9l
g, A 99 dE, IHH AY AW G &

AY 1 A BN A g aaEe g
e 7

(1) 8ad

(2) 10 a9

(3) 12 a9

4) 14 T

e # e Eof demn J1q H
10, 12, 28, 90, 360, 1850

(1) 12 (2) 28

(3) 90 (4) 360

28 TH % USH, 42 ¥ & Ui 9 21 H@®
3 USl @ Uik & IR WX 39 YR o
T S R e gl iR § dad
% & UPR d 9O d@er H U e | al
gl Ut B @ & U A dfeRE
& GE& Bl
(1) 9

(3) 11

(2) 10
4) 13

Level-3/3306
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68.

69.

70.

71.

In a business, A and C invested amounts

in the ratio 2 : 1, whereas the ratio

between amounts invested by A and B
was 3 : 2. If their total profit is Rs. 1,573.

How much amount B will receive ?
(1) Rs.363
(2) Rs. 484
(3) Rs. 605
(4) Rs. 726

A man is 14 years older than his son.
After two years, his age will be twice
the age of his son. The present age of

his son is :
(1) 8years
(2) 10 years
(3) 12 years
(4) 14 years

Find the wrong number in the series :
10, 12, 28, 90, 360, 1850

(1) 12 (2) 28

(3) 90 4) 360

There are 28 mango trees, 42 apple trees
and 21 orange trees have to be planted in
rows such that each row contains the
same number of trees of one variety
only. The minimum number of rows in

which the above trees may be planted is :
1 9 (2) 10
3) 11 4) 13



72.

73.

74.

75.

76.

A % = B 8 g 4 B A =R C H
REFT &, g @ 30 @ C, 54 fiFfe H
T FaT 2, @ B fheq @y ¥ g
BT ?

(1) 9 e (2) 18 e

(3) 12 Hee 4) 15 MHee

I AR Wie # TEE Td deR

HAM 50% TA 20% <o Sl g, @
T6D S F fbae T gRg BRT 7

€] 2)

3)

10 @eX 39 | 8% UMl &, TEH b
& 3 foamn oo fed gq fee |
Il 4% T& T 7

“4)

N|—= W[
Nk Wl

(1) 6T (2) 8drex
(3) 10@rex (4) 15drex
PIiS sinA—cosA=0 g, ar
sin4A+cos4A HT 7 BT :
(1) 0 2) 1
1 3
- 4) =
(3) 5 4) 1

Tk T, ﬁﬁaﬁgﬁaﬁwﬁ%
g9¢ H 0 F & SEh I8 gl Hl
Wﬁl%aﬂ%ﬁaﬂaﬂ—cﬁ%qﬁﬁ
5 frdt ofa guer @ g & =l B, @
Re} gl § A9 &l T S B
(1) 10 fpH/Aver (2) 12 fHt /g0

(3) 13 Rt /Aver (4) 15 fHt/gver

Level-3/3306
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72.

73.

74.

75.

76.

[A]

A 1s twice as fast as B and B is thrice as
fast as C. If some distance is covered by
C in 54 minutes, then in how much time

will B cover ?
(1) 9 minutes (2) 18 minutes

(3) 12 minutes  (4) 15 minutes

If the
rectangular plot be increased by 50%

length and breadth of a

and 20% respectively, then how many

times will its area be increased ?

) 2)

3) “4)

N|—= W=
Nk Wl

10 litres of milk contains 8% water. What
quantity of pure milk should be added to

this mixture to reduce this to 4% water ?
(1) 6 litres (2) 8 litres
(3) 10 litres (4) 15 litres

If sinA—cosA =0, then the value of
sin* A+cos* A is :
(H 0 (2) 1

1 3
- 4) =2
3) 5 4) 1

A boat covers a certain distance

o1 A
downstream in — hour, while it comes
2

back in 1l hours. If the speed of the
2

stream be 5 kmph. What is the speed of
the boat in still water ?

(1) 10 kmph (2) 12 kmph
(3) 13 kmph (4) 15 kmph

P.T.O.



[A]

77.

78.

79.

80.

af¢ fpel FIe AT F 'pit dar na'
ad ‘GH =S &7, 'dar tok pa'
ad ‘o8l AR U7 'tim na tok'
e ‘G g e SE AW Y % g
B9 A= B ?

(1) tim (2) tok

3) na (4) pit

e SO BT, IR-UREH @
‘oiEm’ ‘SRo-uided’ @ ‘SRr @Er
ST B qer 3 U AW off & B, o
‘TAT H FA FHEl S ?

(1) =ferer (2) ITX-vieEH

(3) IW-q4 (4) TN

TF O 3Rl Hl G 4p3 H 984 Sred
W TF IR 3R & d& 13q7 I el
213X 13q7, 119 999 &, @ (q—p) F

qM BRT -
() 8 2) 9

3) 7 4 11

fRu U e w1 dqia wE T

ferel & ufcreare & form wioRiE fEel 6

qEl AH TR G
9#7%2%3%10

(I) Xx++= (2) —+x=

3) +-x= 4) X+=-
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77.

78.

79.

80.

If in a code language 'pit dar na' means
"you are good", 'dar tok pa' means
"good and bad", 'tim na tok' means
"they are bad". In the same language

which word stands for "they" ?

(1) tim (2) tok

3) na (4) pit

If 'South-East' is called 'East’, North-
West is called 'West' 'South-West' is

called 'South' and so on, what will
'North' be called ?

(1) South (2) North-West

(3) North-East (4) North

A three digit number 4p3 is added to
984 to get a four digit number 13q7. If
13q7 is divisible by 11, then the value
of (q—p) will be :

(H 8 2) 9
3) 7 @ 11
Select the correct combination of

mathematical signs to replace "*' signs

and to balance the given equation :
9*7*2*3%*10
(1) x++= 2) —+x=

3) +-x= 4) X+=-



81.

82.

83.

84.

85.

86.

Raarel, ™R 2018 & wREE @« #
o qeh S

(1) @1 Ea

(2) I g

(3) fa™ F=T Fred

(4) dmr i

frfafas & & F9-0 e afedr J
Tfed 78 el § ?

(1) & (2) FHHEEC

(3) 3= (4) g

& R Fd SE J 1857 & shifaemi A
ECET-e e Mo B oo M 2| B

(1) 9aq (2) Uzah

(3) T (4) ARA
STO-2011 & STEUR WX ERATm @
JET FERA X ©

(1) 75.6% (2) 65.9%

(3) 84.1% 4) 71.4%
FrfaRad § & b9 T & |1 R
TET U’ ST || T T © 7

() fed=d g=sT

(i) ITETS

(iii) TeTEI=

(iv) 9STT"

q& ST Y

(D @Tar Gv)  (2) 1) TAT (i)

(3) (iii) T (iv) (4) FAF (iv)

do FHRT M & I} | fr=fareag § 9

BT AT FFT § 7

(1) Jo “HRM M= 3 fda® & 9ed
el | wewayel G e |

(2) e oEd & o S
T § Sl @ U SEEe @
ST T o |

(3) I NaFl ¥ U Aded  Hawr
TRIaTe foha |

(4) 1952 ¥ 1956 T% di {9 99 &
T R©
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81.

82.

83.

84.

85.

86.

[A]
The player who won the Gold medal in
the Asian Games-2018 :
(1) Neha Goyal
(2) Bajrang Punia
(3) Vikas Krishan Yadav
(4) Seema Poonia

Which of the following rivulets does
not converge into Sahibi ?

(1) Dohan (2) Kasavati

(3) Indori (4) Drishadvati

The region in which Colonel Gerrard
led the counter attack against 1857
revolutionaries :

(1) Panipat (2) Rohtak

(3) Mewat (4) Narnaul

The male literacy rate of Haryana as per
the census-2011 is :

(1) 75.6% (2) 65.9%
3) 84.1% 4) 71.4%

With which of the following states, the
"Kalesar National Park" shares its
boundary ?

(i) Himachal Pradesh

(i) Uttrakhand

(iii) Rajasthan

(iv) Punjab

Choose the correct answer :

(1) @) & (iv) (2) (1) & (1)

3) (i) & (iv) (4) Only (iv)
Which of the following statements
about Pt. Neki Ram Sharma is not true ?
(1) Pt. Neki Ram Sharma played a vital
role in the Home Rule Movement
of Lokmanya Tilak.

He organized a public meeting of
Gandhiji at Bhiwani during Non-
cooperation Movement.
He published a Hindi
'Sandesh’ from Bhiwani.

He was a Rajya Sabha Member
from 1952 to 1956.

2

(3) Weekly

“4)

P.T.O.



[A]

87.

88.

89.

90.

‘JegrEl foare A AN & R |

Frretferiee semt oX fer=m iy

() Wh fagar & T F faaE 2]
gl,OOO U e feEr o
|

(b) U fauar wfeen & aiffie o T
TRE B9 § FHH B AR |

SEE ¥ & B-A1 #0978 /8 7
(1) Bad (a) T B |

(2) Fad (b) TE 2|

(3) Tl (a) AR T & (b) FE B}

(4) (a) T (b) AT T F |

frfofag & @ ®9-891 ®od ‘9qErr
T AT $ ST a7 & 7
(1) =T (2) o

(3) TR 4) @

Frefafad & & @e-a1 BEa g
geuis (dlo Silo g=go) T & ?

(1) STEs 2) T

(3) HEYXY 4) R

frfcfad @ gafed HifT

Gy ot

A. X ol% uRRRE () HeEs
H dfTead

B. X % Ufmed (i) R
B gy

C. 9G¥ % Ueded (i) 3%
W THeH

D. ges  G-FUT (iv) HE
ECm ATy

e e P
A B C D

(H @ @@ Gi)  Gv)

2 @®» (@) @G) Gv)

3) Gv) @y Gi) @)

@) Gv) (@) @G) @
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87.

88.

89.

90.

Consider the following statements about

the 'Mukhya Mantri Vivah Shagun

Yojana':

(a) For the marriage of the daughter of
a widow a grant of Rs. 51,000 is
provided.

(b) The income of such widow lady
must be less than one lac per annum.

Which of the above statements is/are
correct !

(1) Only (a) is correct.

(2) Only (b) is correct.

(3) Neither (a) nor (b) is correct.

(4) Both (a) and (b) are correct.

Which of the following crops does not
cover under the 'Bhavantar Bharpayee
Yojana' ?

(1) Sugarcane (2) Potato

(3) Tomato (4) Onion

Which of the following is a Painted
Grey Ware (PGW) site ?

(2) Balu

(3) Bhagawanpura (4) Bhirrana

Match the following :

(1) Banawali

Center District

A. Center of Excellence (i) Kurukshetra

for Vegetable

B. Center of Excellence (ii) Sirsa
for Flowers

C. Center of Excellence (iii) Jhajjar
for Fruits

D. Integrated Bee-keeping (iv) Karnal

Development Center

Choose the correct code :
A B C D

H ® @ G Gv)
@2 ® G @ Gv)
@) Gv) G G @)
@ Gv) @) () (3)

Level-3/3306
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[A]

AT - IV / PART = IV

zfaerd / HISTORY
@sr : =i god] % Gav @7 & [T @@ fEd [ g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

95.

TE qEES H RN BN S gedaTe
3 WRd TET F dIE 7@ T

(1) arrfd (2) &

(3) foemr (4) He=U

qIFGM ST, N AT G @
@ A F HE ¥ SeiedE qE
ﬁ—q-l-.

(1) gsifen offeet ome

(2) IS 98 e

(3) B 9B S

(4) aiorE Sredl e

Frfafad & & aF-a1 7y ©F F=s |
Ry 78 § 7

(1) HIERT (2) @ad
3) gLl (4) AR
qregtieRT g3 & Ufues o
(1) agey (2) g
(3) iR (4) A

Frefafad & & @-a1 Zas Ja @
JIH WA AR B (AT § )
Hfex /MY S § 7

(1) Y B Hamee qeg

(2) TANT &1 T HieY

(3) HRMERIYH & de HfeX
(4) FHAGH P IHTS GG HGX

Level-3/3306

91.

92.

93.

94.

95.

Identify the ruler who does not belong to

the Chandela dynasty of Bundelkhand :
(1) Vakpati (2) Dhang
(3) Vidhyadhar (4) Mahendrapal

The Medieval ruler who significantly
contributed in the development of khyal
style of classical music :

(1) Ibrahim Adil Shah
(2) Firuz Shah Tuglaq
(3) Hussain Shah Sharqi
(4) Wazid Ali Shah

Which of the following Indus Sites is
not situated in Kutch ?

(1) Dholavira (2) Lothal
(3) Surkotada (4) Desalpur

The propounder of
philosophy was :

(I) Vasubandhu (2) Vasumitra
(3) Dipankar

Madhyamika

(4) Nagarjun

Which of the following is considered
the first structural (lime & stone) temple
of Dravid style ?

(1) Kailashnath Temple of
Kanchipuram
(2) Kailash Temple of Ellora

3)
4

Shore Temple of Mahabalipuram

Vaikuntha Perumal
Kanchipuram

Temple of

P.T.O.



[A]

96.

97.

98.

99.

AGTSH THE HRA T A eETR
F A AR e O FE OEE B
e el § fhar ?
(1) sRe-1
(3) -1

(2) -1
(4) FVRIE

AR REACIE MR Ca L & o A
FRAFI AR G THE A T H
TR A £ |

7€ A UT P FNIT B § 7

(1) ™ & 9R

(2) vt 1 A

(3) TRt @ Afw

(4) aREt H Al

Frffed 3 @ dv-ar gk 78 3 7

(1) O™ d - FFaE

(2) Faaeil g9 - TSN gad
(3) TIE 97 - YEHIE 96
4) f=E 49 - AEEN 7o9E

I Aiefs el w FEEa s S
THC-gaedl & FA H Ieadd  H
%.

(i) =

(i) e HHEm

(iii) evafa

(iv) Tl qed

el Fe g

(D @, ) (iii)

() (i), (i) T (iv)
3) T @{v)

@) @, (i), (1) T (iv)

Level-3/3306

[22]

96.

97.

98.

99.

Abdur Razzak, a Persian traveler visited
and stayed in Vijayanagar during the
reign of which ruler ?

(1) Harihar - II
(3) Devray-II

(2) Devray-1
(4) Krishnadevaraya

Sultanate period historians regularly use

two terms 'Karvani' and 'Multani'.

What these two terms denote ?
(1) Kinds of sand

(2) Categories of soldiers

(3) Categories of musician
(4) Categories of traders

Which of the following is not correctly
matched ?

(1) Salve dynasty - Kaikubad

(2) Khilji dynasty - Nasiruddin Khusrao
(3) Tuglaq dynasty - Muhammad Shah
(4) Sayyid dynasty - Nasiruddin Mahmud

Identify the literary sources, which
mention the story of Ramgupta-
Dhruvadevi :

(1) Devichandraguptam
(i) Kavya Mimansa
(ii1) Harshcharit

(iv) Malti Madhav
Choose the correct code :
(1) (@), (1) & (ii1)

(2) (i), (ii1) & (@1v)

(3) (1) & (iv)

4) (), (1), (i) & (v)



100.

101.

102.

103.

104.

I H R &A@ R 8 g
s Teedl &R S foT T o

(1) FmeT 2

(2) & B}

(3) E=-giE &/

(4) T &

aofl e & dr H Fefated § 9

P BIT FFT & 7

(1) 2ol i R FRARE @1 ded
ol

(2) Jeaed aEgel & o AR A
qafd Aot g Mg @ S
o |

(3) I oUE TEE T oTENEl WOl
AT @ A o |

(4) Ao e 9 SUX 9Rg § yEfed
off |

qgE TN o9 ATl # Hehed A
RIE3|

(1) grrdt & (2) o/ AN #
(3) Yot ¥ (4) oTagy ®

Tl qrEE, BT e 8 dRR
A SR H

(1) Je=e ame-1

(2) BT 9me

(3) 3TEHE B Tl

(4) SEM M8

ANE H AN, S osmEn Gy § 787
forem T o -

(1) TEamrel ST

(2) HerEl A

(3) WIEI Af¥HerE

(4) ORI ST
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100.

101.

102.

103.

104.

[A]
The first time, coins having portrait of
rulers were issued in India by :
(1) Kushanas
(2) Shakas
(3) Indo-Greeks
(4) Guptas
Which of the following statements
about Shreni System is not true ?
(1) Shreni was the organization of

traders and artisans.

(2) Quality and the price of the
produced goods was determined by

the concerned Shreni.

Shreni used to control the conduct

3)
of its members.

“)

Shreni system was prevalent only
in Northern India.

The most ancient Jain Agamas were
compiled in the :

(1) Magadhi (2) Arddh Magadhi
(3) Paishachi (4) Apbhransh
The Bahmani ruler, who shifted the
capital from Gulbarga to Bidar :
(1) Muhammad Shah-I
(2) Firuz Shah
(3) Ahmad Shah Vali
(4) Ala-Ud-Din Shah
The Ashoka inscription, which was not
written in Brahmi script :
(1) Shahbazgarhi inscription
(2) Kalsi inscription
(3) Yerragudi inscription
(4) Sopara inscription
P.T.O.



[A]

105.

106.

107.

HHIL & TG Al & Tl Bl R
HIFTT
() T & "y

CRIRIN

qdiies eSS

(i) TG T B YOl E@EEA TEW
FHEAT |

(iii) TSI SRl B JOT A=l & T
BRESEEZSIN

e e g -

(1 @, )3 (i)

(2) ®aa)

(3) (i) 7 (i)

@ ®Ha (i)

Fefafad & & #E-a1 9 I

“Th-feeh’ TR &1 AT 1 STl /A

ST & 7

(1) HARTE-T

(2) |g=TA

(3) =T«

(4) =1

i A7 B R o B s e T B
g e !

(1) I=AAM, weg weer

(2) IART, T

(3) 3G, I W

(4) T, o
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105.

106.

107.

Identify the elements of Akbar's Rajput

policy :

(i) Formation of matrimonial alliance
with the Rajputs.

(i) To grant full autonomy to the

Rajput states.

(ii1) To appoint Rajput rulers as the
governor of Mughal provinces.

Choose the correct code :

(1) (@), (i) & (iii)

(2) @) & (1)

(3) (ii) & (iii)

4 (1) & (iii)

Which of the following Guptan Rulers
is considered the issuer of "Chakra-
Vikram" type of coinage ?

(1) Kumargupta-I

(2) Samudragupta

(3) Skandgupta

(4) Chandragupta-II

Where has the Sculpture of Vishnu as

Varah been found ?

(1) Udayagiri, Madhya Pradesh
(2) Udayagiri, Odisha

(3) Deogarh, Uttar Pradesh

(4) Osian, Rajasthan



108.

109.

110.

Frifefad & @ @ @ gari B ?

SR AT femtan
(1) Fad I g&IH - ZeaaeT
LIS
(2) g T N KER
(3) BN T« - R e
GNKED
(4) YU febetm N e T |

eI & H G 4T o 7

(1) | wa
(2) Higl HaH
(3) T
(4) qAE A

frfafad & @ ®9-9 SIRARE 999 &
0T AN o & 7

() I P A TR

(i) & 1 gared 3gaT & &9 § I

(iil) g9 R afafa & oiaE o §
B

(v) 39 FaeqT H AR A & &Y
T faem

el %2 I :

() @a (i)

(2) M) (i)

(3) @), () a (iv)

@) @), (), (1) a (iv)

Level-3/3306

[25]

108.

109.

110.

[A]

Which of the following is correctly
matched ?

Medieval Building Builder
(1) Quwwat-ul- - lltutmish
Islam Mosque
(2) Sultan Ghari - Bulban
(3) Hauz Khas - Firuz Shah
Tughlaq
(4) Purana Quila - Sikandar Lodi

What was Santhagar in Mahajanpad
Period ?

(1) Meeting Hall

(2) Sports ground

(3) School

(4) Buddhist Monastry

Which of the following are considered

characteristics of Later Vedic Society ?
(i) Eastward expansion

(ii)) Emergence of brahma as a
Supreme deity

(ii1) Dominance of Sabha and Samiti in
Political Life

(iv) Development of Ashram System

into four Ashrams
Choose the correct code :
(1 @) & (i)
(2) @) & (i)
(3) @), (1) & (iv)
@ @, (i), (1) & (iv)

P.T.O.



[A]

111.

112.

113.

foam, St edasd & @R § 78 o ¢

(1) soTHe
(2) 79X W=
(3) HIGT fEamht

(4) &I

AMF d AT @ fafeq i, s 76
SRMES d I 78 -

(1) AR-T-FH

(2) TN

(3) &

(4) STTEETSTTG
frfafad et WX foar ik

(i) SMET-U-3Tad, STHaMl & THh
T 2|

(i) SMEA-T-ITHTY, THR & HAEA F
R # fRgd STMe 3

(ili) A FIA B AE Boll BRET &
e fqar o)

(iv) ESTe &M & e W Age FHorel
%I B B T3 Al

STF § ° H-9 BT FF © 7

1 ®HF @Gv)

(2) (), ()T (1)

(3) (1) d (i)

@ (@), (i), (i) T (iv)

Level-3/3306

[26]

111.

112.

113.

The scholar, who was not in the court of
Harshvardhan :

(1) Banabhatta

(2) Mayur Bhatta
(3) Matang Divakar
(4) Brahmagupta

Identify the Ashokan inscription, which
is not inscribed in Aramaic ?

(1) Shar-i-Kuna
(2) Laghman
(3) Taxila

(4) Shahbazgarhi

Consider the following statements :

(i) Ain-i-Akbari is a part of
Akbarnama

(i1) Ain-i-Akbari provides detail
information about the

administration of Akbar.

(iii) Faizi, brother of Abul Fazl was a

great scholar of Persian.

(iv) Abul Fazl was assassinated on the

direction of Prince Salim.

Which of the above statements are

true ?

(1 (1) & (iv)

(2) (), (i) & (iii)

(3) (1) & (ii1)

4 (@), (i), (i) & (iv)



114.

115.

116.

117.

T At Fa § TSN e B
gl

(1) A0 7 H

(2) aTEAg T3 H

(3) YA T A
(4) =T T3 HN

[EE R REEIIES 7 M I U R s (I N
weq faare o ferg o

(1) GreeT arerd
(2) FE T

(3) HEER de
(4) AT

ARG G IS BT Fel BIERH

g

(1) EaEded - Rl - Al
e - YR

(2) ST - TEeATdEe - JENEE -
ATl ATed

(3) ST - PERIEH - HarEdeT -
ATl ATed

(4) TR - FTEAE - EHdaaeT -
Hrefcll HTEe

frfafag § @ S9-a1 e @
7& 27

(1) e

(2) MR

(3) T T M

4) golem

Level-3/3306
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114.

115.

116.

117.

[A]

In Later Vedic Period, Ratnahavinshi

Sanskara was part of :
(1) Ashvamedha Yajna
(2) Vajasney Yajna

(3) Rajasuya Yajna
(4) Dev Yajna

The
Vijayanagar
Sultans was :

(1) Tungabhadra Doab
(2) Kaveri Doab
(3) Malabar Coast

of
Rulers

bone contention between

and Bahamani

(4) Telangana

Choose the correct chronological order
of the following Sanskrit works :

(1) Swapn Vasavadatta-Ashtadhyayi-

Malti Madhav-Mudrarakshasa

(2) Ashtadhyayi-Swapn Vasavadatta-

Mudrarakshasa-Malti Madhav

Ashtadhyayi-Mudrarakshasa-
Swapn Vasavadatta-Malti Madhav

Mudrarakshasa-Ashtadhyayi-
Swapn Vasavadatta-Malti Madhav

3)

“)

Which of the following is not a
Mesolithic Site ?

(1) Langhnaj

(2) Bagor

(3) Sarai Nahar Rai
(4) Burzahom

P.T.O.



[A]

118.

119.

120.

121.

AT FHIFTT

J&% Seed
(i) gdY e (A) T&GT
(i) rEa AT (B) G Hiq
(iii) fFpAispceaRa (C) faweor
(iv) TRIgaT (D) Jo7ad
7 FT I

(1) ®-B), (iD)-(A), (ii1)-(C), (iv)-(D)
2) ®-(A), (1)-(B), (ii1)-(C), (iv)-(D)
(3) ®-(D), (i1)-(B), (ii1)-(C), (iv)-(A)
@) ®-(D), (1)-(O), (ii1)-(B), (iv)-(A)

Ry |11 A % 9 9eX Fel W 787
gE?

(1) TfREa™ & doig oid |

(2) TiREa™ & foea uiq |

(3) eRamm ®

(4) FER e |

frefoifeg & @ H9-A1 Secme iy
de WX 78 A1 ?
(1) sEdFEH
(3) |9

(2) gfifeE

(4) HITRE
Frefafad & @S-8 GIeReT &l
T 78 8 7

(1) 9r=iF 9 =Rt § &t

(2) WHEERE

(3) TS &l e

(4) FHE 9T g

Level-3/3306

[28]

118.

119.

120.

121.

Match the following :

Book Author
(i) Prabandha Chintamani (A) Merutunga
(i1) Basava Purana (B) Bhim Kavi
(iii) Vikramankadevacharita (C) Bilhan

(iv) Mahapuran (D) Pushpadant

Choose the correct code :

(1) ®-B), (i)-(A), (iiD)-(C), (iv)-(D)
(2) @®-(A), (1)-(B), (iiD)-(C), (iv)-(D)
(3) (M-(D), (1)-(B), (iiD)-(C), (iv)-(A)
@) ®-(D), ()-(C), (iiD)-(B), (iv)-(A)

Where the big cities of Indus Valley
Civilization have not been found ?

(1) Punjab province of Pakistan

(2) Sindh province of Pakistan

(3) Haryana

(4) Kashmir Valley

Which of the following port was not on
the Western Coast ?

(1) Barbarikam (2) Muziris

(3) Sopara (4) Korkai

Which of the following is not a

characteristic of Renaissance ?

(1) Interest in Classical Greek Thoughts
(2) Humanism

(3) Spirit of curiosity

(4) Emphasis on equality



122.

123.

124.

125.

SAQY & EE HAE o e 7 A9Rd @
fofe= st & qEdeer g (e
EREIRIN

wsmaﬁﬁgﬁﬁﬁﬁnmﬁwﬁ
dGATA 7@ Sl
(1) gL
(3) Ioo

(2) RN
(4) I

et & & d-ar gif 7 3 7

L] =
(1) eWHE® - S I
() Fich - e
(3) g\ - AU ITHIHT
(4) dfees - ]

ey, T8 gerbre § faam @l o
T (HEE-U-A191) HaH &Yl Rrerd
& W

(1) art (2) Y

(3) u= (4) "R gt

ooy @ fokyr ifq & orefafed @

S CU: B S 2 s K O CIE O

HIfoTT -

() oFaUSd  MeEliEer wad @
EIEASIES

(i) S-S AT BT FHLAAT

(ifi) TEAAS H G A=AHT

(iv) Jgfra awE

el e g :

(D) (@ii), (1), G) T (iv)

(2) (), (1), (i) g (iv)

(3) (), (1), M) d (iv)

4) @v), (i), i) T (iii)

Level-3/3306
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122.

123.

124.

125.

[A]

Ruler
constructed observatories

of Jaipur Sawai Jai Singh
in various
cities of India.

Identify the city where he did not built
the observatory :

(2) Mathura

(4) Varanasi

(1) Jaipur
(3) Ujjain

Which of the following is not correctly

matched ?

Language Region
(1) Aramaic - North Europe
(2) Coptic - Egypt
(3) Punic - North Africa
(4) Celtic - Spain

The officer, who was given the charge
to award subsistence allowance
(Maddad-i-Mash) to scholars during the
Mughal Period :
(1) Vakil
(3) Sadra

(2) Wazir
(4) Mir Bakshi

Chronologically arrange the following
mile stones of the Hitlar's foreign

policy :
(i) Walk out from the International
Disarmament conference

(1) Anglo-German Naval Agreement
(iii) Remilitarisation of the Rhineland
(iv) Munich Agreement

Choose the correct code :
(1) (ii), (@), (i) & (iv)
(2) (), (i), (iii) & (iv)
(3) (1), (i), (1) & (iv)
@) @v), (1), (i1) & (iii)
P.T.O.



[A]

126.

127.

128.

TN GE d Y9 GRd B SR H
frfeiad el WX faem #ifve

(a) S @M A O A A AT H
qied fRar| g gEe H 10,000
BIREAECIET

(b)y TH & &9 Tg@ TIM  HEARI
o |

SEE H A dA-E/AR-4 BT G

2/ 7

(1) 399 (a) T 2|

(2) Fad (b) T |

(3) TA (@) & (b)TA |

(4) (a) AR (b) T T 2|

Frefofad & & ®M-a1 gg1 39 A6 @

e & an, S MRl A TE-eea

T @ St o ?

(1) gt =g fog

(2) ¥ H 50% %1 FHl

(3) THF H H IHAA

(4) 9GP T AF @

;ﬂaﬁaﬁaﬁﬁgﬁﬁﬁﬁﬂ?ﬁw 72l

() 99 dfc 9 3 =@ &g 999 a™
e 3T afTferhe fohar |

(2) S AFEA | #S® T H T

TSI yuWdl  dEe e
o |

(3) e ged A Ay =ieid T G |

(4) SMY~E b Hal & fahE w9
e e # far s 2
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[30]

126.

127.

128.

Consider the following statements about

the Military Administration of Genghis

Khan :

(a) Genghis Khan organised his army
in to Tumen'. Every Tumen had
10,000 soldiers.

(b) The Military Commander of
Tumen was known as Noyan.
Which of the above statement/

statements is/are true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.

(4) Both (a) and (b) are true.

Which of the following issues was not

the part of the demands, which Gandhiji
sent to Governor General Irwin ?

€]
2
3)
“)

Total alcohol prohibition
Reduction of land revenue by 50%
Abolition of Salt Tax

Complete
India

internal autonomy to

Identify the statement which is not
true :

(1) James Watt invented first Steam
locomotive to run the rail.

(2) John McAdam developed a new
and effective technique of road
construction.

(3) Robert Fulton invented steam boat.

(4) Rowland Hill is credited the
development of Modern Postal
Service.



129.

130.

T U FeAeGa-1 & ar |

Tefaiad weel W) faar ik ¢

(a) 39 Ay H JET GERY H
T AN & B9 F A

(b) IE ‘Hifcred’ THH TH T AL
qe F1 feee T R |

SEE H A dA-A/AR-4 BT G

/R 7

(1) ad (a) TF B |

(2) @ad (b) T B

(3) Fd (a7 & (b)TH 2|

4) (a) A (b) EHl g B |

AT T6T HO9 & I) d Hefarad

T q HH-1 BT GF 7@ 8 °

(1) 999 AREIT g § 291 Meiid o
] ool & & HROT 34 a9
AR {31 |

(2) S YA MpRTar doTared Hehd
HeliEe, a9s H g |

(3) e e § 72 gfdiie &)
ggq A9 H 12 JEE TR R
|

“)
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[31]

129.

130.

[A]

Consider the following statements about
the Roman Emperor Constantine-I :

(a) He chose Byzantium as the new
capital of Roman Empire.

(b) He issued a new pure gold coin
‘Solidus'.

Which of the above statement/state-

ments is/are true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.

(4) Both (a) and (b) are true.

Which of the following statements
about Indian National Congress is not
true ?

(1) The first session was scheduled to
be held in Poona, but due to a
cholera out break it was shifted to

Bombay.

held at
Gokuldas Tejpal Sanskrit College,

The first session was

2)

Bombay.
(3) There were 72 delegates in the first
session.
“)

Twelve resolutions were passed in

the first session.

P.T.O.



[A]

131.

132.

133.

e des U ARdE e |
Fresll o1 daq wewayel omE™ oo ?

(1) foren &g faFEINT a9e ST g
Ul fem &g SwE H @™
ST |

(2) HOE EEEER § g feEEl @
SIAA el fepam SR |

(3) I T FEF WRAE B E
frferd & § g &

(4) AR fomeq Gar w@fa & S |

SR Fas § ‘@R F o ?
(1) =1

(2) fo=r alt

(3) T

(4) TR TSEd

ys faeeiiar M wia e o
gl

(1) 9 ot &

(2) Ta-Ties A §

(3) T it H

(4) sESivere Qe §

Level-3/3306
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131.

132.

133.

What was the most important aspect of
the Lord Bentinck's resolution on Indian

Education ?

(1) All the fund appropriated for the
purpose of education would be
employed for the English education

alone.

Oriental School would not be

2)

allowed to run in company territory.

3)

The company would spend money

only to educate higher class Indians.

Indian Education Service would be

4
established.

What was 'Koine' in Hellenistic Period ?
(1) Currency

(2) Painting Style

(3) Language

(4) Macedonian dynasty

The famous 'Victoria Terminus' was

designed in :

(1) Roman Style

(2) New Gothic Style
(3) Greek Style

(4) Byzantine Style



[33] [A]

134. f3@ml & 9y g<X % G (1665) T 134. The Mughal Commander, who signed
BEIEN T arel Gl AHES o treaty of Purandar (1665) with Shivaji :
(1) ot e 17 fHe-1 (1) Mirza Raja Jai Singh- I
2) ﬂEﬂé 59 e (2) Sawai Jai Singh
(3) SHed f4e (3) Jaswant Singh
(4) T @™\ (4) Shaista Khan
135. gfﬁaﬂﬁ 3 Jaas 9 ¢ 135. Pushtimarg was propounded by :
(1) qrearard (1) Madhvacharya
(2) Fe (2) Nimbark
3) oA (3) Vallabhacharya
4) EnR| HemY (4) Chaitanya Mahaprabhu

136, @R & U & e s 136, Which of the following officers of

T q BT S yed e & Ay Shivaji's  administration does  not

gﬁ%ﬁ & B 7 correctly match with his assigned work ?

(1) &R - facel Ama (1) Dabir - Foreign Affairs

(2) HHEX - Eell (2) Mazumdar - Accounting

3) ﬁ?ﬁ'ﬂ - 9@l 9 AR (3) Surnis - Royal correspondence

(4) 9¢Eq - e A (4) Sarnobat - Religious Affairs
137. 2 A @ 3Hd AT STt I 137. The Homo Sapien is considered to be

originated in :

(1) ofrr & (1) Asia

(2) ewpi J (2) Africa

(3) %o AR H (3) S. America

(4) efegfer o (4) Australia

Level-3/3306 P.T.O.



[A]

138.

139.

frfafag & @ fh9 9Ra o Tifhed™
F T U oY S & (a9
CAR| o ) |

(1) & faRa =has
(2) BT0 HeHIEA
(3) HX AR g3
(4) @ U A=

Frfofead ®oi § & FF-41/&8-4
9 2/2
(2) HITF 7 AAYT T (1920) % 9L

SN q¥ fohAT T |

(b) 1948 ¥ HUG W HEET EN W
Ut & e B AN F AEHNT B
f3am |

Frffed 2 & @@ o g -

(1) &ad (a)
(2) ®a (b)
(3) A (a)7 & (b)
@) (a) &R (b) A

Level-3/3306

[34]

138.

139.

Who among the following was
entrusted the task to divide Punjab and

Bengal between India and Pakistan ?
(1) Sir Cyril Radcliffe

(2) Henry McMohan

(3) Sir Mortimer Durand

(4) Lord Patrick Lawerence

Which of the following statement/

statements is/are true ?

(a) After the Nagpur Session (1920) of
Congress, the provincial Congress
Committees were constituted on
linguistic basis.

(b) In 1948, congress rejected the

demand of formation of provinces

on linguistic basis.

Select the correct answer from the code

below :

(1) Only (a)

(2) Only (b)

(3) Neither (a) nor (b)

4) Both (a) & (b)



140.

141.

142.

‘ AR oWEl & @M’ Heme
2
(1) HHMEREE Goe &
(2) THT FHST H
(3) TSIeh THAT H
(4) A TS &
Toledh Al ® d) § MEEd e
W @ #ifT
(a) FIAHFEH ToIeh FRMl & fQ HEHT

EEIEEA
(b) EYRCT TSEH AT qUIshel TR

T ger & 9
SEE d § FA-E/AHE-E T
TR 7
(1) #ad (a) TF 2|
(2) @ad (b) TF B
(3) T (a)F & (b)TH 2|
4) (a) 3 (b) 31 T F |
TE-1 g ST B SR B & AT
-1 R H HgE Bl 8, o
g § TN SAC T | A g
F F&l GHld HIN

-1 -1

(i) SIRM &N (FRT)  (A) &R
(i) STTHR a1 (SFR)  (B) SRR

(iii) SETHE e (@RR)  (C) SMetel

(iv) IR TS (degem) (D) e
(E) e

7 F2 g

(1) (1)-(A), (i)-(B), (111)-(C), (iv)-(D)
(2) ()-(B), (a1)-(B), (1i1)-(C), (iv)-(A)
(3) (1)-(A), (i1)-(B), (111)-(C), (iv)-(E)
4) (1)-(E), a1)-(C), (1i1)-(B), (iv)-(A)

Level-3/3306
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140.

141.

142.

[A]

'Enmerkar and the Lord of Aratta' is an
epic of :

(1) Mesopotamian Society

(2) Roman Society

(3) Azetec Society

(4) Greek Society

Consider the following statements about

Aztec civilization :

(a) Calmecac was the school meant for
the Aztec nobility.

(b) Common Aztec youth used to study
at Tepochcalli school.

Which of the above

statements is/are frue ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.

(4) Both (a) and (b) are true.

statement/

List I denotes the Mughal Gardens and
List II denotes the rulers under whose
reign the Gardens were built. Match the
two list correctly :

List-1 List-1I
(i) Aaram Bagh (Agra) (A) Babur
(i1) Shalimar Bagh (B) Jahangir

(Srinagar)

(iii) Shalimar Garden (C) Shahjahan
(Lahore)

(iv) Pinjore Garden (D) Aurangzeb
(Panchkula)

(E) Akbar

Choose the correct code :

(1) ®-(A), (i)-(B), (ii)-(C), (iv)-(D)
(2) ()-(E), (iD)-(B), (ii))-(C), (iv)-(A)
(3) ()-(A), (iD)-(B), (iiD)-(C), (iv)-(E)
4) )-(B), (i)-(C), (1i1)-(B), (iv)-(A)

P.T.O.



[A]

143.

144.

Rreifefed 1 gk #Rm -

TS T G| D]

@) (A) T # e
(ii) S (B) FiEx &1 Sia=t
(iii) for (C) YiaR a1 wfafwfy
(iv) TR (D) TaI H HegaEs
7&l % YT

(1) (1)-(A), (i)-(B), (i11)-(C), (iv)-(D)
(2) (1)-(A), (11)-(C), (i11)-(B), (iv)-(D)
(3) ()-(D), (i1)-(O), (iii)-(A), (iv)-(B)
4) ()-(D), (i1)-(O), (iii)-(B), (iv)-(A)
frfafag & @ @9-ar F@fFr @
g9 ® 9fvg 99 #ed e § 4 &
T8 or ?

(1) T
(3) STTSHITeR

(2) e

(4) GHMECT

Level-3/3306
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143.

144.

Match the following :

Islamic Term Meaning

(i) Rasul (A)

Quranic

Interpretation

(i1) Khalifah (B) Biography of the

prophet

(i1i) Sira (@)

Representative  of

the prophet

(iv) Tafsir (D)

Messengers of the

God

Choose the correct code :

(D) ®-(A), (1)-(B), (ii1)-(C), (iv)-(D)

) ®-(A), ()-(O), (iii)-(B), (iv)-(D)

3) )-D), (i1)-(C), (1iD)-(A), (iv)-(B)

4 ()-D), (1)~(C), (iD)-(B), (iv)-(A)

Which of the following was not one of
the three great principles manifested by

Kuomintang in China ?
(1) Nationalism (2) Democracy

(3) Livelihood (4) Equality



145.

146.

M & fqde & d® S o @ o

g o ?

(2) ITHE T H gl BT |

(3) S § A B FHMT HEAT |

(4) 2 9l % e & SR B T

EINEESEETGI

AR F W B gHAT & AR
H fpfeied Hel T fEEm i

(a) G H FHAT A & SAGFBIHT
2] & |

(b) I weah 1 I i otare #
qReE At SEe ded S
geliafedl @ I RS 9 @ @

ufersfer & 7

(1) o () T 2|

(2) Fad (b) T T

(3) T ()7 & (b) T 51
4) (a)d (b) 3 T 2 |

Level-3/3306

[37]

145.

146.

[A]

What was the real motive of Lord

Curzon behind the partition of Bengal ?

(1) To provide adequate representation

to the minority community.

To increase state revenue.

2)

To weaken the nationalism in

3)
Bengal.

To ensure efficient administration

“4)

by creating two provinces.

Consider the following statements about
the introduction of Railway during

Colonial Period :

introduced  to

(a) Railway was

modernise India.

(b)

Development of Rail Network was

the consequence of financial
capitalism; where British capitalist
were provided a guaranteed profit

on their investment.

)

Only (a) is correct.

(2) Only (b) is correct.

3)

Neither (a) nor (b) is correct.

(4) Both (a) and (b) are correct.

P.T.O.



[A]

147.

148.

149.

150.

Frffe & @ d-a @@ gifE @

g7

T Sleea
(1) ¥R o7t Beedsnt - I e
(2) e ud - I fefa
(3) S W’ - 9i@e de
(4) &R eEeE - U &

fofesr wiearar war, fEs 1857 @i it=a
B T g B oFs &

(1) S ameed

(2) dlo 3o B
(3) S fEeEat
(4) foerpEse qrees

Frfafad & @ dF-a1 dfE & i
‘I fifr @ e @ oar ?

(1) & & ST

(2) Rl F TEEEH

(3) A% &1 AT &l B

(4) S & T B & [T FST

Frffed ¥ & di-ar g2 gar 2 7

(1) & - TN 9

(2) TEY - HHET ZN NG X

(3) B - TSI H AT AT B g5
4 yed g

@) I - e Y S

[38]

147.

148.

149.

150.

Which of the following is not correctly

matched ?

Novel Author
(1) Mayor of Casterbridge - Thomas Hardy
(2) Picwick Paper - Charles Dickens
(3) Jane Eyre - Charltte Bronte
(4) Wuthering Heights - Anne Bronte

The British conservative leader who
described the revolution of 1857 as
'National Revolt' :

(1) James Outrem
(2) T.R. Holmes
(3) Benjamin Disraeli

(4) Viscount Palmerston

Which of the following was not the part

of famous 'April Thesis' of Lenin ?

(1) War be brought to a close.

(2) Banks be Nationalised

(3) Land be transferred to the peasants.

(4) Tsar be punished for wrong doing.

Which of the following is correctly

matched ?

(1) Abbey - Medieval Church

(2) Tithe - Tax levied by the feudal lord

(3) Fief - Land granted to a vassal
for military services

(4) Manor - Vast agriculture farm
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6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black/Blue ball point pen
as shown below :

© @& © ®

The answer will be treated wrong, if it is marked, as given below :

O ® & >

If you fill more than one circle it will be treated as a wrong
answer.

ERT T T3 SR Tad AT SO, Ife SR dTel
@ﬁaﬁﬁﬂwﬁmﬁ%

O R & @
I T A ST Wl Bl MR T & Al 3BT SR Tod
HET ST |

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LIS T @ forg R U AR Reedt 3 9 Sfd fdwen & folg OMR STR 99@ &R &ad Ud gd & & g4 aRE el / Blet

dfcl Wrse 9 9 W TP IR IR 3ifhd P B 9IS S ISl T8l S Fbal B | (Out of the four alternatives for each
question, only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not allowed to be changed.)

el gHARad o {6 59 SR 45d B Aiel 9 WY Td I R BIg 31 e 7 M | 3ngedi =1 el SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

TA—YRATHT /IR U5F H f3Q T HHIG BT el el da F gwdeR aic H fod | (The candidates will write the correct

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

gl B URIET B/ BeT H YA UF AR UgAM U & SfIRE Bl THR B qreadEd, gfad a1 sxifoiad drTel 3
Ufedf, SR, AaIgd WH, Sdgiid UG AT B 3 UBR B GEEH DI of S IT STANT HRA DI AT 8T © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PRIRT GAdETH BT AU IR UAB QU 1 v AR A€ R SEART BIER [Py 97 angefi uden g 7€ v | Ay
el el 1 A IR EWER A1 W BWER el by A1 g AMI SN fh S99 SR U3d 8] dlerl & AR I8
Tfad | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat grr 9 w19 & o &1 feme
wrrmmélw@m%wﬁwwmmmwmﬁﬁw@ﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U IJDT AR SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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